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SA: R
. SIUAASA (MY - A /AT SK)
ol NTANY S AT CERE
S ED .S (B0) - NRAY - BAS 0f b JEL HDS2
iz o NHIOIS DI 2 0IE Ol
SUXE 25 o oygya
SEHEE TR 57 A
2 1,072,680 1,230,000 A157.320
Al 1,584,280 1,584,280 0
HEBIOIQ DIAE B3 AL 778,910 800,000 A 21,090
2 378,910 400,000 A 21,090
Al 400,000 400,000 0
402 DI2HT=0| 778.910 800,000 A21.090
2 378,910 400,000 A 21,090
Al 400,000 400,000 0
0 D2 EEE 778.910 800,000 21,000
B0 QOIHE A3 KA 778,910 800,000 A21.090
MBS AUSAME 2H 778,910,000 778.910 800,000 A21,000
2 378,910 400,000 A21,000
Al 400,000 400,000 0
SAGHQLHIO| QA 7] o 2H 2 51 ALY 404,020 430,000 A25.980
2 204,020 230,000 A25.980
Al 200,000 200,000 0
402 DI2HTH=0| 404,020 430,000 A25.980
2 204,020 230,000 A25.980
Al 200,000 200,000 0
0 LA REEE 404,020 430,000 A25.980
SABIHI0 QA J| S 2F2 s KR ALYS 404,020 430,000 A25.980
MUMSAMASAHME HE 404,020,000 404,020 430,000 A25.980
2 204,020 230,000 A25.980
Al 200,000 200,000 0
S AVEHQEHEO] @ AR 0124 OF A ALY 709,750 820,000 A 110,250
2 489,750 600,000 A 110,250
Al 220,000 220,000 0
402 QI2TH=0| 709,750 820,000 A 110,250
2 489,750 600,000 A 110,250
Al 220,000 220000 0
IR (e 709,750 820,000 A110.250
HOLHIOIQ AFSHOITN| 01210k A ALt 709,750 820,000 A 110,250
ARICH DFRIBIOID AHQISHX| 2 HIES
2 709,750,000 709,750 820,000 A 110,250
2 489,750 600,000 A 110,250
Al 220,000 220,000 0
OB 2N M (2 B QA A /B QA At - Of ) 6,362,642 5,742,722 619,920
gpeg  HYEE BE 3 Fxo= HuaH Hu
o MEH PR
2 2 468,420 2,091,000 377,420
2 260,000 260,000 0
Il 1,067,500 825,000 242,500
Al 2 566,722 2 566,722 0




S o FE I
HE: HYEIME (S L=/ L4 - HE)
el gt (etel: =3
SA-EFH - SA(SAH) - MREAY - BES Off &F OH I8N BlusZ
ofl 2 2tel 6,362,642 5,742,722 619,920
AMXE 1 L2 =
golds SHEX 12 2
AMUXNE 2 dlgEsPG2e] AMPH=
gold = SHX 3 N
= 2,468,420 2,091,000 377,420
= 260,000 260,000 0
p) 1,067,500 825,000 242,500
Al 2,566,722 2,566,722 0
HMALHAS (X)) 281,500 39,000 242,500
= 30,000 30,000 0
Il 242,500 0 242,500
Al 9,000 9,000 0
308 NXISHHMSOIE 242,500 0 242,500
Il 242,500 0 242,500
01 MXEMISELS 242,500 0 242,500
ot Itel =2 K At 242,500 0 242,500
Il 242,500 0 242,500
ofeMel Dl o=+ 377,420 0 377,420
= 377,420 0 377,420
308 NAISHHMSOIH 377,420 0 377,420
= 377,420 0 377,420
01 MXEHHBdEELS 377,420 0 377,420
H16= EHZ &tdb Iloi off 2Med] =S+l 377,420 0 377,420
= 377,420 0 377,420
HHE2FZHI(HLE2D)(DIEH/IIE) 136,641 136,941 A300
I8 2 29,992 30,292 A300
eIzl 29,992 30,292 A300
101 el 24l 28,492 30,292 A 1,800
02 JIEtH 2= 28,492 30,292 21,800
HeE LS 28,492 30,292 A 1,800
Sk Z & 23,067,000& 23,067 24,500 N1,433
A2l =g 23 2,916,000 2,916 3,283 N367
204 ARt HH| 1,500 0 1,500
02 HNE2X4 1,500 0 1,500
HLHMINLHEZRRA 250,000 x 18 «6& 1,500 0 1,500
Hests (LI (sSo b/ Lmb - HE) 246 56 190
RSN 246 56 190
=18xz Bt 246 56 190
802 Bret=JIEt 246 56 190
01 = EXSte=s 246 56 190
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